Hu

d50—-Zmr cdot N, J} [1/GeV]

Ratio to ATLAS

[HEN
o
o

T

d® {p
<

107

0.5

13000 GeV pp ff
| ' T T T T T T T T | T | | | | P
c
= P (ATLAS tibar) |
— 38
B m ATLAS 7 :
| --0-- Pythia 6.428 345 v
o £+ Pythia 6.428 346 ] 9!
—2A— Pythia 6.428 370 ;
B Pythia 6.428 default 42
—a— Pythia 8.308 default _Dz:
- Hie)
(90)
B <
(40)
B P
(@)
(90)
—i
} .=
X
S,
e
= —1 O
— E
= — ©
- 0
wn
- e
i -1 O
(@)
— | | | | | | I : | H e
:l I I I I [ T T 1 |:
- —2
1
i 105
| 1 1 . 1 1 \ | . . | . | . |
0 500 1000



	Contents
	Page 1


